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Unit 5 and 6 Exam Review Date

Period

Find the exact value of each.

1) cos 195° 2) cos —15°

3) cos 297°cos 147° + sin 297°sin 147° 4) sin 398°cos 98° — cos 398°sin 98°

Use identities to find the value of each expression.

5) Find csc @ and sec 6 6) Find tan @ and sin 6

iftan @ = -2 and sec 6 > 0. ifcos@z—%andtan9<0-

Verify each identity.
1 sec x 1
1) ————, =cos xsec? x 8) =—
SeC xcos” x tanx sSinx
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Solve each equation for 0 < 8 < 2.

9) —sin 6 =—1 10) —1 +cos 8 =—1

Solve each triangle. Round answers to the nearest tenth.

11) 12)
c B
%3 11
B A
C 4

In each problem, angle C is a right angle. Solve each triangle rounding answers to the nearest
tenth.

13) mzA=60°, a=4 14) mzA=42°, b=5

Solve each triangle. Round your answers to the nearest tenth.

15) msA=75°, mzB=20° a =31 km 16) mzC =28 b=35km, c=29 km

© 2021 Kuta Software L LC . All rights reserve'dZ' Made wi th Infinite Precalculus.



17) mzC=70°,b=34m,c=27m 18) b=9mi, a=18 mi, ms£C=108°

19) b=201in, m£C=132° a=221in 20) a=27km, c=15km, b=16 km

Find the area of each triangle to the nearest tenth.

21) InAFDE, d=16 m, mzF =31°, e=10m

22) InAEFD,d=12km, mZE =53° f=5.7km

23) InAFDE, d=10km, e=12 km, m£F = 65°
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24) InAEFD,d =17 cm, m/E =114°, f=16 cm

25) mAXYZ,z=T1t, mzX=132° y=9ft

26) InAYZX,x=10.7mi, y=7.9mi, z=10 mi

© 202 1 Kuta Software LLC. All rights reserV“k'd. Made with Infinite Precalculus.



Answers to Unit 5 and 6 Exam Review (ID: 1)
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11) mzA=74.7°, m/B=15.3° c=114 12) mzB=61.5°, b=9.7, a=5.2
13) mzB=30° b=23, c=4.6 14) mzB=48°, a=4.5, c=6.7
15) mzC=85°c¢c=32km,b=11 km 16) mzA =117.5°, msB =34.5°, a=54.8 km
Or mzZ/A=6.5°, ms/B=145.5°,a="7 km
17) Not a triangle 18) msA =49.6°, m£B =22.4° ¢ =22.5mi
19) mzA=25.2°, ms/B=22.8° c=3841n 20) mzA=121.1°, ms/B =30.5°, mzsC = 28.4°
21) 41.2 m? 22) 27.3 km? 23) 54.4 km? 24) 51.2 cm?
25) 23.4 {2 26) 37.6 mi?
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